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	Day 1:
	Subject:
	

	
	Literacy 

	SPAG revision.
Click and enlarge the image to complete the task.
[image: ] 

	
	Maths
	Click and enlarge the image to complete the task.
[image: ]

	
	Foundation subject
Science
	What is light? Do the quiz.
https://www.bbc.co.uk/bitesize/topics/zbssgk7/articles/z2s4xfr 

	
	PE link
	5 minute move 1
https://www.youtube.com/watch?v=d3LPrhI0v-w 

	Day 2:
	Subject:
	

	
	Literacy 

	SPAG revision.
[image: ]

	
	Maths
	[image: ]

	
	Foundation subject
RE
	What is Buddhism? Take the quiz and create a poster
https://www.bbc.co.uk/bitesize/topics/zh4mrj6/articles/zdbvjhv 

	
	PE link
	5 minute move 2
https://www.youtube.com/c/TheBodyCoachTV

	Day 3:
	Subject:
	

	
	Literacy 

	SPAG revision.
[image: ] [image: ]

	
	Maths
	 [image: ]

	
	Foundation subject
Art
	How To Draw a Snow Globe
https://www.youtube.com/watch?v=FeYJAGqmNs4  

	
	PE link
	Active 8 Minute Workout 1
https://www.youtube.com/watch?v=YIB2SJnBHBQ 

	Day 4:
	Subject:
	

	
	Literacy 

	Comprehension.
[image: ]  [image: ]

	
	Maths
	[image: ]

	
	Foundation subject
History 
	Watch the video https://www.youtube.com/watch?v=Xh_Lk7kDrUI
Explain industrial revolution in your own words.

	
	PE link
	Active 8 Minute Workout 2
https://www.youtube.com/watch?v=EDC-plCTBbc 

	Day 5:
	Subject:
	

	
	Literacy 

	Comprehension.
[image: ]   [image: ]

	
	Maths
	[image: ]

	
	Foundation subject
Art
	How to Draw a Winter Village
https://www.youtube.com/watch?v=azKix_qH2Qk  

	
	PE link
	Energising workout
https://www.youtube.com/watch?v=5MBEyQIlrfo&list=PLyCLoPd4VxBuxu3sLztrvWFehzv-LnR2c&index=7 
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Rudolph’s Relative Clauses

Relative clauses can be ‘dropped in’ to the middle of sentences after the noun it is giving extra
information about. For example:

Amira wants a football for Christmas.
Amira, who is very sporty, wants a football for Christmas.

In the example above, the relative clause has been placed in the middle of the sentence after
the noun ‘Amira’, which it gives more information about. Help Rudolph complete the sentences
below by adding a relative clause to each one.

1. Father Christmas, who , travels around
the world delivering presents to children.

2. Rudolph, whose , helps guide the sleigh.

3. The Christmas tree, which , stood proudly by the window.

4. Scrooge, who jumped with fright when he
saw Marley’s ghost.

5. One Christmas, the snowman, which , came to life.

6. Baby Jesus, who , was born in a stable.

7. A choir of angels, which , sang in the sky

above Bethlehem.

8. The presents, which sat waiting to be opened on
Christmas morning.
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MojiMaths Christmas Challenge Activity

Each emoji represents a number. Work out the number each emoji represents. Find the
answer to the final two calculations.
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Santa’s Sentences

Santa Claus needs your help! He has been writing
about Christmas but is getting his different sentence
types mixed up. Please help him to identify if each

sentence is a COMPOUND or COMPLEX sentence by
writing the sentence type at the end of each line.

Remember, a compound sentence is a sentence with two or more independent clauses.
For example:

Jamie got a new bike and Mia got an action figure.

A complex sentence has a main clause and a subordinate clause (a clause that doesn't make
sense on its own). For example:

Jamie opened his presents while his family watched.

While his family watched is the subordinate clause as it doesn't make sense on its own but
adds more information to the main clause.

Compound Complex

1. The reindeers stood still while the elves attached their harnesses.

2. Grandad was feeling full but he still managed to eat one more
mince pie.

3. Callum couldn't get to sleep because he was too excited.

4. Even though it was very cold, the children still went Christmas
carol singing.

5. Mum started making her Christmas cake in October so it would be
ready in time for Christmas.

6. The elves still had to wrap the last few presents and then they had to
place them all on the sleigh.

7. If it got any colder, the water in the pipes would freeze.

8. Although the snow had started to melt, the children were still able to
go sledging.
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Christmas Maths Mosaic

Mixed Operations

Solve the maths problems to reveal the hidden picture. Use BODMAS to help.
Some answers have a special colour, shown below. Leave the other answers
white.

52 =red 48 = brown 25 = light brown 99 = black
Tx4+50 120-48 123-45+3 10x4+2 2x3+26 6+17+2 | 48-12+30  4x4-12 5x5
120+12+16 6%8+2 12+32+16 9x8+2 9x4 60+5 100-75 12x6+5-3 100+4
500-125 15x2+4 12+62 9x3-4 (2+3)x(6+2) | 8x5-17 27+3+9 [ (32+8)-15 6x4+1
108-50 11x8 12x2-21 30+5+6 53+12-8 84+2+6 8x5+8 12x4 12+57+2
12+3+9 10x8+15 84+12 6x8+15 39+9 6x4x%2 200-152 98-50 4x10+8
Tx4-19 90-47+2 12x3 56-4x2 6+12+9+21 200-75 5+9+7+3 8x8-16 348-300
8x4-14 50+10+22 84-36 4x7+20 12x2x2 11x9 34x2 90+2+3 3xbxs4
24+2+9 64-12 (6+2)x6 12x3+12 [ 100+2-2 | 19+20+9 | 10x6-12 |27+11+10| 8x4+16
5x10+2 26%2 37+11 9x5+3 6x4x2 11x4+2+2 24x2 16+2+40 95-48

48-36 12x3+6 10x5+15 | 8+11+24 10x5-2 100-50-2 | 28+12+8 3x6+30 100-23
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A Christmas Colon

Ebenezer Scrooge loves to use colons (:) in his sentences. He
has set a challenge for you below. You must join together the
two independent clauses that best match and could be joined
together using a colon.

Scrooge’s Tip: When using colons, the first clause is

a descriptive clause. Then the next clause gives more
information about the first clause.

First, match up the clauses from the first column with the
clauses from the second column. Draw a line to indicate which
clauses you think go together.

The glass rattled in the window
panes

it made Scrooge jump
with fright!

The doorknocker morphed into
the face of Jacob Marley

it was time to go to sleep.

Finally, Scrooge’s eyelids began
to close

he thought it was ‘humbug’
and a waste of time.

Scrooge despised Christmas

the storm outside was howling
around the house.

The Ghost of Christmas Past
took Scrooge back in time

he saw himself as a schoolboy
and a young man.
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Now write out each of the sentences in full below. Remember to add the colon ( :) in the correct
place between the two independent clauses.
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Addition and Subtraction Multi-step Problems

2. A supermarket orders 345 small turkeys, 265
medium turkeys and 190 large turkeys. After
selling 682 turkeys, how many are left unsold?

Addition and Subtraction Multi-step Problems

1. A Christmas tree producer has 14 630 trees
growing. The producer harvests 8452 trees in
November for selling to local shops and
suppliers and plants 9013 new trees in their
place. How many trees does he have
growing now?

Addition and Subtraction Multi-step Problems

3. Jessica goes shopping to buy her family some
Christmas presents. She has £36.65. She spends
£14.49 on a present for her mother, £9.75 on a
present for her father and £7.20 on a present
for her brother. How much money does she
have left?
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= All about Winter .= =

Winter is one of the four seasons; it is the season that comes after
autumn. Winter begins in December and finishes in February. This
is the season where we have the coldest weather and we can have
sleet, hail and snow. Winter is when we experience the longest nights,
which means the most amount of darkness and the shortest days,
which means the least amount of daylight.

What happens to the animals?

© Animals cannot cope with the cold like we do by o4
A putting the heating onor wearing a jumper! Avg‘
Many animals hibernate during the

autumn and winter eg. bears,
- bees, hedgehogs, frogs, snakes and ;
' some types of bats. Some animals

migrate to somewhere warmer for

the winter, like geese. Other animals —

store food for the winter so they have

enough to eat when there is less food

around. Badgers, skunks and squirrels do this.

There are also some animals who adapt when it is cold; they do this

by changing the way they look. A mountain hare turns white during
- the winter to camouflage themselves in the snow.

X

)
;

What happens to our health in winter?

During the winter, it is common for people to suffer from colds and
the flu. Symptoms that some people suffer from can include a runny
nose, cough and headache.

R
1

Which celebrations happen in winter? oy
Christmas is an exciting time of celebration during winter. Christmas
Day is on the 25th of December and is a religious and cultural event,
originally celebrated by Christians. Now, many people join in with
the celebrations all around the world.

&
o
|
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New Year’s Day is always on January the 1st and many people
~ celebrate this time of year with friends and family. Many people also
join in with the Chinese New Year festival. This celebration takes
place in either January or February every year.
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Questions

. Name three types of weather we can experience in winter.

. When does winter begin and end?

. What happens to the days and nights in winter?

. How can animals cope with the cold?

. What happens to the mountain hare in winter?

. What do some animals do to make sure they don't starve?

. Explain what can happen to our health in winter and name some symptoms.

. When is Christmas Day and who originally celebrated the event?

. What do many people do at New Year?

. Which festival do many people also join in with and when?
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Multiplication and Division Multi-step Problems

2. Sets of eight pieces of tinsel are sold at a
Christmas Fair for £1.72 per set. The decorations
are bought in boxes which contain 24 sets and
cost £17.28. How much does each decoration
cost on average for the stallholder to buy and
for how much is each sold for?

Multiplication and Division Multi-step Problems

1. A box of Christmas crackers contains 15
packs. Each pack contains 24 crackers. A shop
buys six boxes. How many crackers will there be
in the six boxes?

Multiplication and Division Multi-step Problems

3. Santa Claus has a team of elves. Each elf
makes 17 presents each day and works five days
a week. 25 925 presents are made each week.
How many elves are there making presents?
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Winter Wonderland

Crisp underfoot, my feet sink down deep,
As the white, fluffy snow caves in.
A crunch and a slip as I steady my grip,
Let the wintry fun begin!

B

Icicles hang from the buildings above,
Shining and gleaming like glass.
Watery chimes that are frozen in time,

Reflecting the sun as I pass.

Bushes and plants with a powdery coat,
Shed puffs as a robin flies by.
A flurry of snow hits the garden below,
As the robin looks on from up high.

Snow starts to float through
the bitter grey sky,
A twirl as the lacy flakes fall.
Meeting by chance for a fluttering dance,
In a splendour of shapes big and small.

I look to the river that’s frozen on top,
The slippery ice stops the flow.
A crack and a creak in the silence so bleak,

Send a warning of danger below.

The laughter of children is soft in the air

As snowballs exchange between friends.

A snowman to make, a carrot to take,
And a wish that the fun never ends.

My nose is now red, my fingers are numb,
Jack Frost has been spreading his cold.

So home I will head, to my warm cosy bed,

And the fire, a sight to behold.
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Questions

1. What kind of bird appears in the third verse? Tick one.

O asparrow
O acrow
O anowl
O arobin

2. Re-read verse four. Which of the following is closest in meaning to ‘splendour'? Tick one.
O  beautiful display
O boring display
O ordinary display
O ugly display
3. Inverse three, what is the ‘powdery coat’ that the bushes and plants are wearing? Tick one
O The bushes are covered in flour.
O Someone has put winter coats on the bushes.

O There is snow on the bushes.

O The bushes are covered in cotton wool.

4. Draw three lines to complete each sentence.

The person needs to { they are clear
steady their grip... and smooth.
Icicles are like { . to give their snowman
glass because... a nose.
The children need { . to keep from falling in
a carrot... the snow.

5. Find and copy one word that means the same as 'glittering' in verse two.

6. Fill in the missing word.

As snowballs between friends.
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Christmas Fractions and Decimals Word Problems

2. A butcher has four turkeys left to sell. The
butcher decides to display their weights in
fractions of a kilogram.

3 22 1 13

Order the turkeys from lightest to heaviest.

twinkl.co.uk

Christmas Fractions and Decimals Word Problems

1. Jane and Rob each make 96 biscuits for
Christmas. Jane divides hers into eight equal
bags and gives away three of the bags to her

friends. Rob divides his into 12 bags, giving
away five of the bags to his friends.

Compare the two fractions of their biscuits that
they give away in a number sentence.

twinkl.co.uk

Christmas Fractions and Decimals Word Problems

3. A farmer has to deliver two different weights
of vegetables. There are 63 bags of carrots
weighing +kg and 39 bags weighing Zkg.

Which set of boxes is heavier?

twinkl.co.uk
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